Labor Market
Demand of labor – who demands labor

Supply of labor – who supplies labor

The graph of labor demand and supply

1. Labor Market Equilibrium

Assume that the labor market begins in an equilibrium position. What would happen to the equilibrium wage rate (w*) and quantity of labor employed (L*) if the demand curve for labor or the supply curve of labor changed. The labor market experiences single shifts and double shifts just like the product market. For example, if the demand for labor increases, then the labor demand curve shifts right. The result is an increase in wages and an increase in the number of workers employed. There could also be a double shift. In the market for insurance actuaries – the people who determine the insurance rates based on statistics – the demand has increased and the supply has increased. The result has been more actuaries being hired. Pay has also increased – which means the demand has risen by more than the supply.
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Equilibrium wages – factors that impact wages

Why are women jobs traditionally lower paying than men jobs?

Why are some people paid so much money? Is it fair? MPL times the price 

What can the people who are not paid do about it?

What should the government do?

Demand factors – productivity, education increases productivity, skills/ training

Supply factors – women college grads, leisure/labor decision, government programs (UI, disability, welfare) non-labor income (the income of a spouse)

What does economic theory say about how workers are paid?
Economic theory states that in a free market workers are paid based on their productivity. 

To measure productivity, the company has to determine how much more they produce after you are hired holding everything else constant. 

For example, the company mows three lawns a day before you are hired. Then after hiring you they mow 6 lawns a day. Part 1 is determined… you add three lawns per day to the production process. But how does that transfer over into wages?

If the company charges $20 per lawn then you are worth 3 * $20 or $60 per day. If they mow five extra lawns because of you, then your value would be $100 per day (5*$20).

The extra amount of output added because of you is referred to as the Marginal Product of Labor. Or MPL

Here is another example, if you pick 5 bushels of apples a day and the company can sell each bushel for $10 then your MPL is 5.
The wage = MPL * Price

5 * $10 = $50

Your additional productivity MPL = 5, the value of the product you produce (MP*P= VMP) = $50. This is also your wage. 
What is the next person that is hired picks 4 bushels of apples, and what if the company can only sell the apples for $8 now.  This represents an imperfect product market.
If Robert Downey Jr. agrees to be in Iron Man 3 then how much should he be paid?
The number of tickets his name sells * price of the ticket. Apparently, he made $50 million on The Avengers! That’s a lot of tickets. 
Super Bowl MVP Joe Flacco received a 6 year deal for $120million. That is more than $1 million per game!  How did the team estimate Flacco’s value? 

 Another approach to determining wages is using the average productivity of labor method. The average productivity is estimated by dividing the company’s output by their number of employees. For example, Ford makes 2 million cars a year and they employ 10,000 people. 

Q = 2,000,000 / L = 10,000 – the average employ makes 200 cars per year. However, Ford has a lot of capital expenses so all of their revenue does not go to labor. 

The average wages and benefits are $100,000 per year per worker. 

Some workers are paid based on average productivity – like part of a team of employees when it is hard to determine who is producing what (workers at Walmart).
Some workers are paid based on marginal productivity – when these people are hired the company can determine how much they have added to the output. Lawyers, car salesman, doctors, actors, athletes. 
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